Assignment 2 Clarifications

1. You do not need to handle invalid input. Trust that your user will be good this time
around.
2. The 5 paths requirement has the following constraints:

a. 'You must take user input at least three times.

b. You do not need to nest your if statements more than three deep. If you have
already completed your program and you went more than three deep, please just
explain this to your TA. We understanding the phrasing was ambiguous. Here is
an example of three deep.

if (conditionl) {
if (condition2) {
if (condition3) {
}
else if (condition3a) {
}
else {
}
}
else {
}
}
else if (conditionla) {
}
else {
}

3. Switch statements are permitted.



